1 Can find the Input and Qutput for a Function Table and write an Equation that
Corresponds to the Table.

mingbird beats its wings about 52 beats per
second. Make a table to show how many times it beats its wings in
2 seconds, 6 seconds, and 20 seconds.

Number of
Seconds (s)

2

se 52 Wing Beats (w)

6

20

S

Use the equation above to answer the following.

A ruby threatened hummingbird beats its wings | A ruby threatened hummingbird beats its wings
for 8 seconds. How many wing beats does it 520 times. How many seconds was the bird
beat? observed?

For each of these tables the Input is the value that you put in and can
change. The Output depends on the input value.

Got It?
Input (x) x-4 Output (y) Input (x) 3x+2 Output (y)
4 5
7 6
10 9
Equation Equation




Write the Algebraic Equation that Corresponds to each Table.

l- X 0 2 4 6 3- x y 4° y
y | 6 | 8 [10] 12 5 5 5 )
1 3 10 2
6 15 3
Yy 0 3 9
Fill in the Table and then Write the Algebraic Equation
5. [ x[ a5 ] 610 7T T 4 8- T 4
y 5 6
24 6 21 15
32 24 18
48 12 27
60 30
6. | x| 2 3 4 | 5
y 18 30
Some Challenges
Work backwards to determine the input given the output.
Input (x) x+3 Output (y)
6
15
21
Got It?
Input (x) 20 + x Output (y) Input (x) 2x-1 Output (y)
0 1
2 3
4 5
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second. Make a table to show how many times it beats its wings in
2 seconds, 6 seconds, and 20 seconds.
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Use the equation above to answer the following.

A ruby threatened hummingbird beats its wings

A ruby threatened hummingbird beats its wings
520 times. How many seconds was the bird

for 8 seconds. How many wing beats does it
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SRS VL) Qe
S 5;;Qm'szo
ETE ' ¥'s2 252

Wp Q (O SecondS

For each of these tables the Input is the value that you put in and can
change. The Output depends on the input value.

Got It?
Input (x) x-4 Output (y) Input (x) 3x +2 Output (y)
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Write the Algebraic Equation that Corresponds to each Table.

1. S e 2 AT 3. e 4. 8
y i b6 SU oS TD 5 ;
X+ = \{/ 1 3 10 2
2 6 15 3
2. s SECTE T4 3 9 20 i
. 0 3 6 | 9
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Fill in the Table and then Write the Algebraic Equation
5. iR e 7- [ 3 8. EEEmr
2 L 2 Z Ll 24 6 21 15
Rl = \l/ 32 | § 24 | 18
48 19 22|
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Some Challenges
Work backwards to determine the input given the output.
Input (x) x+3 Output (y)
5 B 6
12 |k 8 15
|8 D ¥ 3 21
Got It?
Input (x) 20 + x Output (y) Inpﬁt (x) 2x -1 Output (y)
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